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GT-100 0.10 tgg:g 0.010 MAX 300 +04 250
GT-050 0.05 fgg?g 0010 | MAX300 | =04 250
ST-150 0.15 +0.020 0.020 MAX 300 +=04 250
ST-100 0.10 fg-g}g 0.010 MAX 300 +0.4 250
ST-050 0.05 tgg?g 0.010 MAX 300 +04 250
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i (g/cr) (%) (N/mnf) (%) (Hv) (¢ Qom)
GT-100 7.65 93 420 9 202 *2 48
GT-050 7.65 90 387 11 179 *3 48

ST-150 7.65 94 496 15 205 *1 52

ST-100 7.65 93 476 13 198 *2 52

ST-050 7.65 90 487 12 182 X3 52
SlaREES R UMEUIXEZE A RELEBIE,

BEAEEE 31 Hv:0.5Kg
H2 Hv:0.3Kg
%3 Hv:0.1Kg

BB D—fF (8%18)

sm K8 (W/ke)

? Wis/50 Wis/100 Wi10/400 Wio/1000 Ws,2000 W2,/5000 Wi /10000 | Wo.5/20000
GT-100 1.2 3.0 6.1 21.3 18.0 15.2 10.4 13.0
GT-050 1.7 50 7.3 17.0 13.0 10.2 7.1 53
ST-150 2.3 — 11.6 394 30.0 215 17.2 14.2
ST-100 2.7 — 11.0 34.1 25.3 17.0 12.9 10.2
ST-050 6.1 — 254 65.8 40.8 214 11.6 6.7
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s RREHE x103  (H/m) HEREE (T)
1L 10/400 M 10/1000 1 5/2000 M 1710000 | M 0.5/20000 Bs B2s Bso
GT-100 20.4 16.2 9.6 28 1.2 1.82 - -
GT-050 16.6 16.0 9.9 2.7 1.5 1.75 = =
ST-150 9.61 8.17 557 1.70 1.15 — 1.56 1.66
ST-100 8.54 7.87 5.81 2.00 1.39 = 1.55 1.65
ST-050 3.13 3.1 2.65 1.00 0.93 - 1.47 1.58




